
2815505 OT5015

***

2019(Odd)
15505

Time : 3Hrs. Sem. V-C

Q.S.C-II

Full Marks : 80

Pass Marks : 26

Answer all 20 questions from Group A, each question 

carries 1 marks.

Answer all Five questions from Group B, each question 

carries 4  marks.

Answer all Five questions from Group C, each question 

carries 8  marks.

All parts of a question must be answered at one place in

sequence, otherwise they may not be evaluated.

The figure in right hand margin indicate marks.
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10.Analyse the rate for P.C.C. (1:2:4) in foundation.

Assume suitable rates.

components.

building. Describe any one.

Write the specification of first class brick work in

cement mortar (1:5) in foundation

OR

OR

11.

8

8
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1. Choose the most suitable answer from the following

options :1 x 20 = 20

(ii)

(i)

(i)        The number of bags of cement required for
3 10m cement concrete(1:2:4) are:

(a) 52

(b) 55

(c) 60

(d) 66

The unit weight of plain cement concrete in
3 KN/m is

(a) 22

(b) 23

(c) 24

(d) 25

OT5015
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(iii)

(iii)

(iv)

(ii)

The estimate of sanitary fittings like valve
and trap is made in:
(a) Weight
(b) Length
(c) Area
(d) Number

The weight of 8 mm diameter mild steel bar
 per meter length is taken as:
(a)  0.33 kg
(b)  0.39 kg
(c)  0.62 kg
(d)  0.78 kg
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(v)

(v)

(vi)

(iv)

One bag cement in India weighs:

(a) 40 kg

(b) 45kg

(c) 50 kg

(d) 55 kg

Expected out-turn of plain cement concrete

(1:2:4) per mason per day is:
3 (a) 2.5 m
3 (b) 3.0 m
3 (c) 4.5 m
3 (d) 5.0 m

OT5015

OR
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With the help of fig-1, find the quantity of  cement
concrete work in (1:2:4) plinth and column 
excluding reinforcement. 

Plan 
Fig No. - 01
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The actual size of modular brick is:

(a) 19cm x 9cm x 9cm

(b) 20cm x 10cm x 10cm

(c) Both (a) and (b)

(d) None of these

The technique of finding the fair price of 

an existing building is known as:

(a) Estimate

(b) Valuation

(c) Both (a) and (b)

(d) None of these

(vii)

(vii)

(viii)

(vi)
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The diameter of domestic sewer pipe laid at 
gradient 1 in 100 is recommended:
(a) 150 mm
(b) 200 mm
(c) 250 mm
(d) 300 mm

The trap which is provided to disconnect the
house drain from the street sewer is called:
(a) Master trap
(b) Intercepting trap
(c) Both (a) and (b)
(d) None of these

(ix)

(ix)

(x)

(viii)
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Write the specification of patent stone flooring.

10 mm dia. 150 mm pitch in Kg.

OR

9.

Plan 
Fig No. - 01
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The annual periodic payment made for the
repayment of capital invested is known as:
(a) Annuity
(b) Depreciation
(c) Sinking fund
(d) All of the above

Full form of D.P.C. is:
(a) Damp proof course
(b) Damp pozollana cement
(c) Both (a) and (b)
(d) None of these 

(xi)

(xi)

(xii)

(x)
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The gradual reduction in value of a property

with age is called:

(a) Scrap value

(b) Market value

(c) Depreciation

(d) All of the above

In building estimate the area is measured 

correct to the nearest of:
2 (a) 0.01m
2 (b) 0.02m
2 (c) 0.03m

(d) None of these

(xiii)

(xiii)

(xiv)

(xii)
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8.With the help of fig.1 find the quantity of 16 mm 
& bars in Kg.

Plan 
Fig No. - 01
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The cross-sectional area of 20 mm dia steel 
bar is:

2(a) 201 mm
2(b) 256 mm
2(c) 314  mm

2(d) 625 mm

In analysis of rates the amount of dry cement
3motor for 10m  brick work is taken:

3(a) 1.0 m
3(b) 2.0 m
3(c) 3.0 m
3(d) 4.0 m

(xv)

(xv)

(xvi)

(xiv)
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In absence of detailed design the percentage
of steel in R.C.C. beam may be taken as:
(a) 1 to 2%
(b) 3 to 5%
(c) 5 to 8%
(d) 8 to 10%

The additional length of one hook in the 
steel reinforcement barsis:
Where 'd' is the diameter of bar
(a) 4.5 d
(b) 9 d
(c) 12 d
(d) 18 d

(xvii)

(xvii)

(xviii)

(xvi)
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OR

With the help of fig.1. Calculate the quantity of 
12 mm & bars @150 mm c/c in Kg.

Plan 
Fig No. - 01
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In detailed estimate, the provision for 
contingencies is...............of total estimated 
cost.
(a) 1%
(b) 3%
(c)  5%
(d) 10%

Which of the following is a component of 
steel roof truss?
(a) Principal rafter
(b) Purlin
(c) Both (a) and (b)
(d) None of these

(xviii)

(xix)

(xx)

(xix)
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Plan 
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Answer all Five Questions. 

2.

4 x 5 = 20

Draw the cross-sectional view of a R.C.C. T-beam

showing details of reinforcement.4                     

(xx)
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Answer all Five Questions. 
8 x 5 = 40

7. With the help of figure -1, find the quantity of earth 

work in excavation of foundation trenches and 

cement concrete(1:4:8) in foundation. 8

13 15505
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3.

OT5015

OR

Define the following terms:

(a) Estimate

(b) Culvert

Differentiate between general specifications and

detailed specifications.

 4

                                   OR

Assume missing data suitably
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(a) Scrap value

(b) Foundation

Define the following terms:

(a) Year's purchase

(b) Column

Draw a neat sketch of soak pit and write its 

functions.

OR

4

6.

14 15505OT5015

thick. Assume suitable rates.

Write the objects of valuation.

any four types of beams.

4.

OR

5.

4

 4

OR
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